
F
itt

in
g 

in
st

ru
ct

io
ns

M
ak

e: A
ur

is
; 

20
06

->

To
yo

ta

Ty
pe

:
52

99



5299/7

5299/65299/4

9555200

9520092

529980

ø30x13x6

ø30x13x6

M12x85 (10.9)
110 Nm

M12x1,25x40 (8.8)
100 Nm

M12x1,25x40 (8.8)
100 Nm

M12x1,25x40 (8.8)
100 Nm

© 529970/12-04-2010/1

© 529970/12-04-2010/18



© 529970/12-04-2010/17

5299/7

5299/6 5299/4

9555200

9520092

529980

ø30x13x6

ø30x13x6

M12x85 (10.9)
95 Nm

M12x1,25x40 (8.8)
100 Nm

M12x1,25x40 (8.8)
100 Nm

M12x1,25x40 (8.8)
100 Nm

© 529970/12-04-2010/2



© 529970/12-04-2010/3

USER MANUAL
BMA

(2x) M12x85 (10.9) 

(10x) M12

(2x) self locking M12  

(10x) M12x1.25X40 (8.8) 

(4x) ø30x13x6

(2x)

(2x) M12

(4x) M12x1.25

© 529970/12-04-2010/16

Montagehandleiding

F itting instructions

Montageanleitung

Instructions de montage

Monteringsanvisningar

Montagevejledning

Instrucciones de montaje

Istruzioni per il montaggio

Instrukcja montażu

Asennusohjeet

Pokyny k montáži

S zerelés i útmutató

уководстводлямонтажа

NLGBDFSDKE

IPLS FCZHRU S

Fitting instructions

C3II; DS3; 2009->5267

21



© 529970/12-04-2010/15

19

USER MANUAL

BRINK MATIC 

ADVANCE

20

tested
euroApproved

Approved

Approved e11 00-7682

RAYMOND

kg

kg?

60 kg

© 529970/12-04-2010/4

D-Value :        kN

94/20/EC

Couplingsclass: A50-X

8,6

MODIFICATION?

KTC HIGH QUALITY TOOLS

12 101719

10

8.8

10.9

8



HINWEISE:

* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Änderungen des Fahrzeuggewichtes muβ die höchst-
zulässige Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.
Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben.

* Elektrische Anlage gemäβ StVZO anbringen.

© 529970/12-04-2010/5

0km

+
1000km

NOTE:

* Should this installation process entail the cutting of the bumper – con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Brink International do not accept
responsibility for any matters arising as a result of this miscommunica-
tion.

© 529970/12-04-2010/14

2x 4 x

17

2x

18

(2x)



© 529970/12-04-2010/13

1516

1

© 529970/12-04-2010/6

4x4 x

2

KTC HIGH QUALITY TOOLS



3

© 529970/12-04-2010/7

KTC
HIGH QUALITY TOOLS 12

4

© 529970/12-04-2010/12

40

53

20

130

40

cut out

cut out

140

25

cut out

60

90

cut out

180

14



© 529970/12-04-2010/11

19

11

X kg

2

3

4
2

3 1

5 12

(2x) M12x85
(10.9) 

(2x) self 
locking M12  

© 529970/12-04-2010/8

12

56

172x



© 529970/12-04-2010/9

7

19

8

(3x) M12

(3x) ø30x13x6

(3x) M12x1,25x40
(8.8) 

© 529970/12-04-2010/10

19

9

19

10

(3x) M12

(1x) ø30x13x6

(3x) M12x1,25x40
(8.8) 

(2x) M12

(4x) M12

(4x) M12x1.25 

(4x) M12x1,25x40
(8.8) 



 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20100305114439
       595.2756
       a5
       Blank
       419.5276
          

     Tall
     16
     Single
     164
     390
    
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2 2.0
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





